novotechnik

LS1 &5 fE Rk

ez RN EREE, NOVOPADMER A
BE&MBERRE, TEMEE, TIEEEWIX100 mm
RSO

2R J NOVOPAD £ 43 A P 45 fnh v R X D00 i J B L 5 1%
A S PCB B b, WESMSE, W TEE. KA R
L% € TN R

T 99 S T R 2 P A ST, SR VR R S s A 1)
Ji. WL BB LST HiE A DI, hiAT N
BRSO T AR AR S AT L

W & Teach-In ThREMIME S AL PESS SR RS T L TR . MR 4
SHEES .

PR AL AR T4, oS, BARFIMESM.
PERU R . (RS TR AL R E, WA B T

AT,

LET-¢ B
o MEMEAK, BITREA S 100 x 10° K& hoE MBS
o SNSRI, 18X 18 mm L TR
R B R4, AISI303, HELIERAEE, ML M2.56
o P SCHERLT WEALA JEARD W M2.5 BAEMRENCER, 5 AL EL, AR
o Sl bRt Fetkhlk Wi T 4 R
o J3¥E30.05% B 0.1% 0 5 JET PCB Hi ity NOVOPAD o RR I
o &WfiS, mEk £0.15% WA B 3 Mext Bk J:, W

385 PVC B4, 3x0.14mm?, K2 %k
2R ¥ ASIC Iy i SMD

o bR IR RS S

o Ji4# Teach-In ThiE, LED ATIREER
o BT

o g R B I T ik




novotechnik

FRUER (Z-45) A (Z3-31) kiR (Z-45) Ak (Z3-81)
3 S o o 9 ~
(2]
2 Al o 2 o a
| | < !
DIN EN ISO 1207 N DIN EN ISO 1207
M4x10 16 45 M4x10 1.6
IR 18 IR 18
#% K 140 Ncm %K 140 Nem
M2,5x5
M2,5x5
H‘ C ]
23]
23]
. - © ©
I = I . —IJ .
© B I 5 R - = : - 95
il R |Il
et 'q T,
it Rt @] . = : @] L 2l g
Ao el g 2
a0 \ N =0 8
©
A Z-45
B <
<
|
@ | @] =
o o | | —sw-10
= N
1T T N
om o
i TN
| WK 2 m
+0,3 S0 +0,3]
288 288
40 40
i EEOSTR HHB% R AR (==
#5101 #5202 EEM 33-56/-57/-58/-59/-60/-61
£ 1 aefa ke Perg
4 [ERE] EE] {554
£ 3 kit [ )




novotechnik

BESEX LSt LSt Ls1 LSt
0025 0050 0075 0100
BESH B
TAEER (RAB) 25 50 75 100 mm
EURapaH <+0.1 <+0.15 +%FS.
HAEMA R + 0.5 mm
it 0.1 ... 10 VDC(BR ARk 5 BT 470 KQ) /b HEk AT > 10 kQ
HL R B HL 3 10 ... 0.1 VDC(EE AR i BT 470 kQ) die/ MBI > 10 kQ
4 ... 20 mA (fa#k < 500 Q)
20 ... 4 mA (513 < 500 Q)
FL A Y E) PSS BT 120 Q
i 5 5 Stk I3 KBOVDCHL T 5 H Hb I K51 B - (kA B A1)
i H R B > 950; LB > 50 Hz
ES1:3 EdEA <10mV, #H<3mV mv
@R <5 mv, #E<2mV mv
M <16 nA, JH<5uA A
A <8 nA, ##H<3 uA uA
TAEHLE 16...30 VDC
TAER R ) ek 10 % Vss
ZAETHE <1 w
i KL <50 ppm/K
LR <40 (KA) VDC
MRS, SRR Up 10 Unax VDC
HaZHLHL (500 VDO) >10 MQ
WS
Shae E (RSFA) 63 94.4 134.4 166 + 1mm
HAFRIE FB) 30 55 80 105 + 1.5mm
i
gl 120 150 180 200 g
Liisi PN 86 107 132 150 g
HFPUKH R AT 5 4 25 36 48 57 g
TAEZ T3 (K5 10) <25 <25 <25 <25 N
TAEHTRZ T) (KT J5 16]) <5.0 <5.0 <50 <5.0 N
AU EZAM T AR ) K5 N
SR TAEMUR (FE 5 % 100 A% I 2 6 T S5 |- 224 i) 18 14 11 10 Hz
I 5 WA ET ) 5 K FL P 140 Nem
IREESH
ARG ik 40 ... +85 C
48 -30 ... +100 C
AR A 0...95 (e %R.H.
Piohiikridk DIN IEC 100 (11 ms) (i) g
HidkE bRk DIN IEC 20 (10 ... 2000 Hz, Amax=0.75 mm)
55 471465 4% IP 40 DIN EN 60529
5 K TAE M 5 m/s
SR A s 5 g
H iy Bt dr: Je/100 Mio; HLAF6r: 175 000/hHt at RT ®
i B CE-FRiE
P S bk RFIE % #EN 55011, class B
DU bR i ESD EN 61000-4-2

iEHHHIHE EN 61000-4-3
BiBEN 61000-4-4
RF 1L SHiPk EN 61000-4-6




325

@10
EEM 33-56/-58/-60

29,3

205

|

@10
EEM 33-57/-59/-61

=

i

novotechnik

1T A% 15 AR

B3|

TiEEiEEE

") HEFE AL

B L5

002: PN 52 L i 5%

Frifi K EE0025mm % 0100mm

B0
4: BB

BIERHHESED 4 _
10 U
2: Wi il

BIEBEEHED 41_
1:0VDC ... 10 VDC (i #iBi ) *
2:10VDC ... 0 VDC (k)
3:0VDC ... 10 VDC (fi k)
4:10VDC ... 0 VDC (k)

BINREREHED 42_

1:4 mA ... 20 mA (k) -
2: 20 MA ... 4 mA (Rt R)
3:4mA ... 20 mA (IR R)
4:20 MA ... 4 mA (IR Bi)

SR
101: 3¢FMBx 1B B, Al i
202: NTHRHE2A LA, 10 i

THEANBERE

2 AN Z-45 ZHF (& 44 MAx10 B25T )

AR SR 5 ) fih £
RIBE KA EF =/
AR AR
bt Bk r R gidm 7 5K

AL 14
44 73-31 I (& 44D MAx10 BRET)
FEimgn s 059010

34 M8x1 B MY, 4 PUR BilR4E, 3 x 0.25mm”
5. EEM 33-56, 2 KHL4i,
5. EEM 33-58, 5 KHL4i;
KIS EEM 33-60, 10 KHL8i;

3% M8x1 5 M B:J, HF PUR BilHL 4, 3 x 0.25mm”
5. EEM 33-57, 2 KHL4,

5. EEM 33-59, 5 KHi4;,

TS, EEM 33-61, 10 KH4E;

Bt Ek Z-R50
FegRmEs . 005678

A S, AT
8





